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Practice 11-2

The Pythagorean Theorem
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Use the triangle at the right.
Find the length of the missing q
side to the nearest tenth.

b

. ¢ =12,b =35,c= 4 Zoa=10,b=,c=126 3.a=11b=8c=061
4 a=36=15c=193 S.a=8b=15c=3 B. a=Mb=24c=40
T. o=18 b= ",c =735 B a=17b="3c=49 B a=42b=37c=1
10, o =", b = 80,c = 90 MM a=8b=R%¢c=T 12, a =19, b =W ¢ =28
13, a=98,b=27¢=133 | 4. a=5E0b=13c=24 5. a=9p=11c=13
16, a = 18.b=45c=4H . a=050b=724c= 30 18, a=145=14,c= &
Determine whether the given lengths are sides of a right triangle.

19. 20,21,29 20. 16,30, 34 21. 24,40, 56. 22. 23,18,14
23. 10,24,28 24, 45,28,53 25. £.2.1 2. %1

27. 35,44,55 28. 10.5,11.3,13.8 29. 33,65,5.6 30. 24,70,74

31. 4.2,7.0,556 32.° 52,6539 33. 21,3528 34, 48,7554
35, 7.5,4.3,67 3. §ik 7. 288 38 411

Find ike missing length to the nearest tenth,

39.

40,

41.

42,

A ladder is 25 ft long. The ladder needs to tcach to a window that is
24 ft abowve the pround. How far away [vom the building should the
bottom of the ladder be placed?

Suppose you are making a sail in the shape of a right triangle for a
saillvoat. The length of the longest side of the sail is 63 ft. The sail i3 to
be 63 ft high, What is the length of the third side of the sail?

Suppose you leave your house and travel 13 mi due west. Then you

travel 3 mi due south. How {ar are you from your house?

A wire is run betwesn the tips of two poles. Orne pole is 27 fi taller thany,
the other pole. The poles are 37 [t apart. How lonp does the wire need

to be to reach between the two poles?

A 20-fr-long wire is used to support a television antenna. The wire is
connecied 1o the antenna 15 ft above the pround. How far away from
the base of the tower will the other end of the wire be located?
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